

الطرح بتفكيك الاعداد

فَكَكْ عَدَدًا لِتَكُونِ عَشْرَةً. ثُمَّ اطْرَحْ.

4. $67 - 45$



$$67 - \underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

$$\underline{\hspace{2cm}} - \underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

$$67 - 45 = \underline{\hspace{2cm}} \text{ إِذَا.}$$

3. $83 - 52$



$$\underline{\hspace{2cm}} - \underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

$$83 - \underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

$$\underline{\hspace{2cm}} - \underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

$$83 - 52 = \underline{\hspace{2cm}} \text{ إِذَا.}$$